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B SIS A (YUDTIUT/LBHT)
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S At2te] 41,500 6,500 35,000
201 fer= 3| 6,500 6,500 0
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OAIZZ&Hl =Xt 3,500
—22 |2l 1,500,000 *14] 1,500
—de] & 8l RAEH|
200,00024 %105 2,000
OXt&= Al 3,000
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2,000,000 «1CH 2,000
—B53A3176(&H It KK
1,000,000 *1CH 1,000
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OBA 2I==8 WHSA
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M ORNZZ2NSE S 8,624 7,031 1,593
OstA LS 8,624
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Ogd s MIe=
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OgHECCTV =2l
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101 @1A4H| 17,655 17,039 616
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80,2403 *3H 20 4,815
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01 ArR2eltl 1,600 900 700
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OMEDIE2ESIISA &= MZ
50,0002 * 1074 500
206 M= 4| 4,736 4,044 692
01 =t 4,7% 4,044 6%
SaQls B FA L 2 4,200
—SEE6 YN %X 7
20,000&+108 200
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—Z22F F¢ 3,000& *5002 23] 3,000
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201 L2 | 5,924 5,924
01 ArR2eltl 3,924 3,924
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02 E324Hl 2,000 2,000 0
02222 & HA 500
—RXXEEH 282
500,00081141 500
OAIZEHI R Xt 1,500
—ZHl>eH(BADIR S)
200,000 *33] 600
—RIXXIEE =& 300,000 *34! 900
FOIXX J1et2 st 211,554 210,498 1,056
201 LEr2 | 2,000 2,000 0
01 At 22|l 2,000 2,000 0
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SN FH2S
M HYE2HHAHI(FH2S)(JIEHDIIE)
&l D122 (CH9: &S1)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
—= A =2 500,000+ 1CH 500
—IglHe =2l 100,000& *2CH*50/100 100
—= A EY 200,000 *53*1CH 1,000
~TORE £l (29)
200,000& *53*2CH 2,000
—TRIE E4(2)
200,000 *33*1CH 600
—PC =2l 100,0002 *13CH*20/100 260
—J|Et ==2lHl 50,0003 *12& 600
OJIEt AtR2t2|H]
10,0002 13 * 128 1,560
O - x| 11,520
—2A 60,0002 * 1219 1,140
—=Z (M) 30,000& *1H +346 10,380
02 2324l 25,690 25,690 0
032322 £ HMAl 24,250
—RERI 225,0003 =128 2,700
—HIIe3 1,400,000 =123 16,800
—&ot=ER3 100,000« 12& 1,200
—HI| HHBY +48
110,000 x 12& 1,320
== Pl PR == 50,0002 *23] 100
—220] |XE4 |
165,000& *12& 1,980
—52J| FIIZ A 150,000& * 12| 150
OFSILOII| ®IIQS
40,0003 * 12 #24) 960
OsdYsaz 20,000 23| S+ 12& 480
202 O4dl 42,120 43,680 21,560
01 =LHO4 b 42,120 43,680 A1,560
O304l 20,0003 =138+ 12+ 122 37,440
O&2lod| 120,000 *13H 3 4,680
203 R &I 10,120 10,120
01 J| 22 RFA| 6,600 6,600
OSH Jp2gesay|
6,600,000 1 6,600
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OF I HRFEH| 40,0003 *13H 520
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